
CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY

(HINGLISH)

ALCOHOLS AND ETHERS

Solved Problem

1. Give IUPAC substitutive names for the

following alcohols: 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2ZKs3cioiCcu


View Text Solution

2. Give IUPAC substitutive names for the

following alcohols: 

View Text Solution

https://dl.doubtnut.com/l/_2ZKs3cioiCcu
https://dl.doubtnut.com/l/_RbZE55NEw86a


3. Give IUPAC substitutive names for the

following alcohols: 

View Text Solution

https://dl.doubtnut.com/l/_RbZE55NEw86a
https://dl.doubtnut.com/l/_dHOde5GWVZLe


4. Albuterol (used in some commonly

prescribed respiratory medications) and

vanillin (from vanilla beans) each contain

several functional groups. Name the

functional groups in albuterol and vanillin

and, if appropriate for a given group. classify

them as primary ( ), secondary ( ), or

tertiary ( ). 


View Text Solution

1∘ 2∘

3∘

https://dl.doubtnut.com/l/_sg9fWr5m2NZS


5. What conditions would you use for each

reaction? 

View Text Solution

6. Treating 3-methyl-2-butanol (see the

following reaction) yields 2-bromo-2-

https://dl.doubtnut.com/l/_sg9fWr5m2NZS
https://dl.doubtnut.com/l/_jy3bsqXGQEOK
https://dl.doubtnut.com/l/_z23WkL2IwMB9


methylbutane as the sole product. Propose a

mechanism that explains the course of the

reaction. 

View Text Solution

7. Give the major product for the reaction 

View Text Solution

CH3 − CH2 − C
∣

OH

H − CH3

HBr
−−→

https://dl.doubtnut.com/l/_z23WkL2IwMB9
https://dl.doubtnut.com/l/_u1GNXTA2tBu3


8. Give the major product for the reaction 

View Text Solution

9. Give the major product for the reaction 

View Text Solution

https://dl.doubtnut.com/l/_mCEBAlCuiuMP
https://dl.doubtnut.com/l/_ykpDykqBaiGm


10. Give the major product for the reaction 

View Text Solution

https://dl.doubtnut.com/l/_ykpDykqBaiGm
https://dl.doubtnut.com/l/_DQpLuh4oT4kz


11. Give the major product for the reaction 

View Text Solution

12. Starting with alcohol, outline a synthesis of 

benzyl bromide

View Text Solution

https://dl.doubtnut.com/l/_0YyjezVYoirr
https://dl.doubtnut.com/l/_ro8oBxJbIGdN
https://dl.doubtnut.com/l/_wfEXdnjbapB4


13. Starting with alcohol, outline a synthesis of 

cyclohexyl chloride

View Text Solution

14. Starting with alcohol, outline a synthesis of 

butyl bromide

View Text Solution

https://dl.doubtnut.com/l/_wfEXdnjbapB4
https://dl.doubtnut.com/l/_fofMOugYW9tf


15. Supply the missing reagents. 

View Text Solution

16. The cyclic ether tetrahydrofuran (THF) can be

synthesized by treating 4-chloro-1-butanol with

aqueous sodium hydroxide (see below). Propose

a mechanism for this reaction. 

https://dl.doubtnut.com/l/_MefvCBQ9zvUO
https://dl.doubtnut.com/l/_b2JyvwVCfy9g


View Text Solution

17. Prepare the ethers by Williamson.s ether

synthesis 

View Text Solution

CH3 − O −

CH3

∣

C
∣

CH3

− CH3

18. Prepare the ethers by Williamson.s ether

synthesis 

https://dl.doubtnut.com/l/_b2JyvwVCfy9g
https://dl.doubtnut.com/l/_sA8dx0GVsVeT
https://dl.doubtnut.com/l/_o51s9RlGVEvY


View Text Solution

19. Prepare the ethers by Williamson.s ether

synthesis 

https://dl.doubtnut.com/l/_o51s9RlGVEvY
https://dl.doubtnut.com/l/_uhfLzVkAlCfk


View Text Solution

20. Explain why methyl ethyl ether forms both

methyliodide and ethyliodide on being heated

with excess of HI?

View Text Solution

21. Give the major products obtained on heating

the ether with one equivalent of HI. 

CH3 −
18

O −

CH3

∣

C
∣

CH3

− CH3

https://dl.doubtnut.com/l/_uhfLzVkAlCfk
https://dl.doubtnut.com/l/_SNgiZ3E8B6s5
https://dl.doubtnut.com/l/_HdT5bEdDc9M3


View Text Solution

22. Give the major products obtained on heating

the ether with one equivalent of HI. 

View Text Solution

CH3 −
18

O − CH2 − CH2 − CH3

23. Give the major products obtained on heating

the ether with one equivalent of HI. 

https://dl.doubtnut.com/l/_HdT5bEdDc9M3
https://dl.doubtnut.com/l/_RBeUFp7LgeX1
https://dl.doubtnut.com/l/_4eufIm37HAcR


View Text Solution

24. Give the major products obtained on heating

the ether with one equivalent of HI. 

https://dl.doubtnut.com/l/_4eufIm37HAcR
https://dl.doubtnut.com/l/_1Al1fCbwoaCT


View Text Solution

25. Give the major products obtained on heating

the ether with one equivalent of HI. 

View Text Solution

CH3 − CH2 − O − CH2 − Ph

https://dl.doubtnut.com/l/_1Al1fCbwoaCT
https://dl.doubtnut.com/l/_d6AmVNCo7Ja0


26. Give the major products obtained on heating

the ether with one equivalent of HI. 

View Text Solution

CH3 − CH2 − O − CH2 − CH3

27. Suggest reagents for the transformations 

View Text Solution

CH3I → CH3OH

https://dl.doubtnut.com/l/_Gg51yF0Z4RQV
https://dl.doubtnut.com/l/_i0fctAf1xXNh


28. Suggest reagents for the transformations 

View Text Solution

29. Suggest reagents for the transformations 

View Text Solution

https://dl.doubtnut.com/l/_Ga0XvedIVtRX
https://dl.doubtnut.com/l/_rmlIz5GAYuDU


30. Suggest reagents for the transformations 

View Text Solution

31. Choose the best synthetic route to

 amongst the following: 


(a) React  with KOH, then add 

 . 

(b) React  with NaOH, then add 

(CH3)3COCH3

(CH3)3COH

CH3I

(CH3)3COH

https://dl.doubtnut.com/l/_rmlIz5GAYuDU
https://dl.doubtnut.com/l/_1mKmRZbLIz5x
https://dl.doubtnut.com/l/_u00JVveBmJwA


. 

(c) React  with KOH, then add 

View Text Solution

CH3I

CH3OH

(CH3)3CI.

32. Give the products of the reaction : 

View Text Solution

https://dl.doubtnut.com/l/_u00JVveBmJwA
https://dl.doubtnut.com/l/_hgqzLe1U0neS


33. Give the products of the reaction : 

View Text Solution

34. Give the products of the reaction : 

View Text Solution

https://dl.doubtnut.com/l/_R4UtCAIsvSoi
https://dl.doubtnut.com/l/_arvJHeLrQaQG


35. Give the products of the reaction : 

View Text Solution

36. Give the products of the reaction : 

View Text Solution

Product of reaction (d)
NaCN
−−−→
DMF

https://dl.doubtnut.com/l/_arvJHeLrQaQG
https://dl.doubtnut.com/l/_s434xzn5fZ3C
https://dl.doubtnut.com/l/_JUY93znlbOaC
https://dl.doubtnut.com/l/_Vfvrg61aencx


37. Give the products of the reaction : 

View Text Solution

38. Give the products of the reaction : 

View Text Solution

https://dl.doubtnut.com/l/_Vfvrg61aencx
https://dl.doubtnut.com/l/_zbn373vD4RGV
https://dl.doubtnut.com/l/_ZuNgFe3XTMMi


39. Give the products of the reaction : 

View Text Solution

40. Give the products of the reaction : 

View Text Solution

https://dl.doubtnut.com/l/_ZuNgFe3XTMMi
https://dl.doubtnut.com/l/_FSbsSPgeEJB4
https://dl.doubtnut.com/l/_uaugmTLzcS8O


41. Give the products of the reaction : 

View Text Solution

42. Give the products of the reaction : 

View Text Solution

https://dl.doubtnut.com/l/_uaugmTLzcS8O
https://dl.doubtnut.com/l/_sP276OL8SkXf


43. Give the products of the reaction : 

View Text Solution

44. Give the products of the reaction : 

https://dl.doubtnut.com/l/_sP276OL8SkXf
https://dl.doubtnut.com/l/_Ki8MfIeP6zSl
https://dl.doubtnut.com/l/_a5uWxsgTWuGw


View Text Solution

45. Why does ethylene oxide react readily with

nucleophiles such as ammonia, whereas THF is

inert to nucleophilic attack by ammonia?

View Text Solution

46. Give the products and mechanism for each of

the following reactions. Explain why nucleophilic

attack on the epoxide occurs at different sites in

https://dl.doubtnut.com/l/_a5uWxsgTWuGw
https://dl.doubtnut.com/l/_bZqrobJQ7L5Q
https://dl.doubtnut.com/l/_MfQM3qRNe8Q3


the two reactions. 

View Text Solution

47. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_MfQM3qRNe8Q3
https://dl.doubtnut.com/l/_FAAVsLc0slAB


major product. If no reaction occurs, write "NR" 

View Text Solution

48. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_FAAVsLc0slAB
https://dl.doubtnut.com/l/_2RZreWf2TaLv


major product. If no reaction occurs, write "NR" 

View Text Solution

49. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_2RZreWf2TaLv
https://dl.doubtnut.com/l/_rwEJ1tZyLZOV


major product. If no reaction occurs, write "NR" 

View Text Solution

50. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_rwEJ1tZyLZOV
https://dl.doubtnut.com/l/_fRCemAuUEPrp


major product. If no reaction occurs, write "NR" 

View Text Solution

51. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_fRCemAuUEPrp
https://dl.doubtnut.com/l/_ZnInlvhA3eTj


major product. If no reaction occurs, write "NR" 

View Text Solution

52. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_ZnInlvhA3eTj
https://dl.doubtnut.com/l/_gaNkqbwhRehy


major product. If no reaction occurs, write "NR" 

View Text Solution

53. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_gaNkqbwhRehy
https://dl.doubtnut.com/l/_OxkH5s0pEu9B


major product. If no reaction occurs, write "NR" 

View Text Solution

54. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_OxkH5s0pEu9B
https://dl.doubtnut.com/l/_FFACsqTvsZRN


major product. If no reaction occurs, write "NR" 

View Text Solution

55. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_FFACsqTvsZRN
https://dl.doubtnut.com/l/_Se4Dhk5o9pl2


major product. If no reaction occurs, write "NR" 

View Text Solution

56. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_Se4Dhk5o9pl2
https://dl.doubtnut.com/l/_LQGviMczMyEt


major product. If no reaction occurs, write "NR" 

View Text Solution

57. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_LQGviMczMyEt
https://dl.doubtnut.com/l/_HzMAlKzJ32sf


major product. If no reaction occurs, write "NR" 

View Text Solution

58. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_HzMAlKzJ32sf
https://dl.doubtnut.com/l/_h6uhEYS6v1v4


major product. If no reaction occurs, write "NR" 

View Text Solution

59. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_h6uhEYS6v1v4
https://dl.doubtnut.com/l/_FY5whBfbMFGC


major product. If no reaction occurs, write "NR" 

View Text Solution

60. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_FY5whBfbMFGC
https://dl.doubtnut.com/l/_0g0PlV8nmXbf


major product. If no reaction occurs, write "NR" 

View Text Solution

61. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_0g0PlV8nmXbf
https://dl.doubtnut.com/l/_ySkBfPk7k2nd


major product. If no reaction occurs, write "NR" 

View Text Solution

62. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_ySkBfPk7k2nd
https://dl.doubtnut.com/l/_O4l7FJlyfIVw


major product. If no reaction occurs, write "NR" 

View Text Solution

63. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_O4l7FJlyfIVw
https://dl.doubtnut.com/l/_FCxxx0fFmebC


major product. If no reaction occurs, write "NR" 

View Text Solution

64. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_FCxxx0fFmebC
https://dl.doubtnut.com/l/_KOtZwbGjAWB1


major product. If no reaction occurs, write "NR" 

View Text Solution

65. Provide the organic product(s) of the

reaction. Pay careful attention to

stereochemistry. If more than one product is

formed, indicate which product (if any) is the

https://dl.doubtnut.com/l/_KOtZwbGjAWB1
https://dl.doubtnut.com/l/_EUL2F21JdHmr


major product. If no reaction occurs, write "NR" 

View Text Solution

66. Consider the reaction of

 with

https://dl.doubtnut.com/l/_EUL2F21JdHmr
https://dl.doubtnut.com/l/_f4ni1MA4ZyD5


aqueous HI. 

Give the mechanism and product of the faster

reaction

View Text Solution

67. Consider the reaction of

 with

https://dl.doubtnut.com/l/_f4ni1MA4ZyD5
https://dl.doubtnut.com/l/_BTBGfmwjbwYr


aqueous HI. 

Explain your choice of the faster reaction.

View Text Solution

68. Explain why following reaction give different

products :

https://dl.doubtnut.com/l/_BTBGfmwjbwYr
https://dl.doubtnut.com/l/_KgEYipPbK90W


View Text Solution

69. Define oxidation and reduction from an

organic perspective and give specific examples.

View Text Solution

70. Write the best reagents above each reaction

arrow. If the transformation cannot be achieved

https://dl.doubtnut.com/l/_KgEYipPbK90W
https://dl.doubtnut.com/l/_iplcJtVSqAoK
https://dl.doubtnut.com/l/_lPebrz4jrASc


in a single step by any reagents, write "NR" 

View Text Solution

71. Write the best reagents above each reaction

arrow. If the transformation cannot be achieved

in a single step by any reagents, write "NR" 

View Text Solution

https://dl.doubtnut.com/l/_lPebrz4jrASc
https://dl.doubtnut.com/l/_OIxh5PNsJwNF


72. Write the best reagents above each reaction

arrow. If the transformation cannot be achieved

in a single step by any reagents, write "NR" 

View Text Solution

73. Consider the reaction : 

 

https://dl.doubtnut.com/l/_OIxh5PNsJwNF
https://dl.doubtnut.com/l/_fEwS9zwXNFlZ
https://dl.doubtnut.com/l/_uQANrgpjmKeo


Provide a complete mechanism for the formation

of the major product.

View Text Solution

74. Consider the reaction : 

 

Briefly explain the choice of major product.

View Text Solution

https://dl.doubtnut.com/l/_uQANrgpjmKeo
https://dl.doubtnut.com/l/_uCyOzmQsPCFK


75. Briefly explain why the following reaction

does not occur 

View Text Solution

76. Give the mechanisms of the reaction 

View Text Solution

https://dl.doubtnut.com/l/_U6i9Wor7NXnu
https://dl.doubtnut.com/l/_YfvpdxxZVq6o
https://dl.doubtnut.com/l/_TYLTMis6Sqmq


77. Give the mechanisms of the reaction 

View Text Solution

78. Which of the following two routes to allyl

isopropyl ether is more efficient? Explain. 

View Text Solution

https://dl.doubtnut.com/l/_TYLTMis6Sqmq
https://dl.doubtnut.com/l/_nxUPEZ4VcYbx


Additional Objective Questions Single Correct

Choice Type

1. Which of the following synthetic routes may be

employed to prepare the following aryl ether ? 

A. 

https://dl.doubtnut.com/l/_rGPWAfnVr6as


B. 

C. 

D. Both (a) and (b) will work

Answer: A

View Text Solution

2. The reaction products of

A. C6H5OH + CH3I

https://dl.doubtnut.com/l/_rGPWAfnVr6as
https://dl.doubtnut.com/l/_sXoLPV5lhlqW


B. 

C. 

D. 

Answer: A

View Text Solution

C6H5I + CH3OH

C6H5CH3 + HOI

C6H6 + CH3OI

3. The best combination for the preparation of

ether Williamson.s synthesis are

A.  and (CH3)3CBr CH3ONa

https://dl.doubtnut.com/l/_sXoLPV5lhlqW
https://dl.doubtnut.com/l/_p6YBktK0HHkY


B.  and 

C.  and 

D.  and 

Answer: C

View Text Solution

(CH3)3CBr CH3OH

CH3Br (CH3)3CONa

CH3Br (CH3)3COH

4. The product of the following reactions is 

https://dl.doubtnut.com/l/_p6YBktK0HHkY
https://dl.doubtnut.com/l/_zda6g2ywNKzt


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C6H5OC6H5

C2H5OC2H5

5. When alkyl halide is heated with dry  it

produces

Ag2O,

https://dl.doubtnut.com/l/_zda6g2ywNKzt
https://dl.doubtnut.com/l/_dQKSHR5tOThe


A. ester

B. ether

C. ketone

D. alcohol

Answer: B

View Text Solution

6. Choose the major product of the following

reaction 

https://dl.doubtnut.com/l/_dQKSHR5tOThe
https://dl.doubtnut.com/l/_ttdzCRHBbSi4


A. 

B. 

C. 

https://dl.doubtnut.com/l/_ttdzCRHBbSi4


D. 

Answer: B

View Text Solution

7. The product of the following reaction is

A. 

B. 

https://dl.doubtnut.com/l/_ttdzCRHBbSi4
https://dl.doubtnut.com/l/_Kfsadm3TfO1x


C. 

D. 

Answer: D

View Text Solution

8. Mixed ether is also known as

A. symmetric ethers

B. unsymmeteric ethers

https://dl.doubtnut.com/l/_Kfsadm3TfO1x
https://dl.doubtnut.com/l/_go3tv9Qh9E0n


C. dialkyl ethers

D. oxane

Answer: B

View Text Solution

9. The following compound on mercuration

demercuration produces the major product 

https://dl.doubtnut.com/l/_go3tv9Qh9E0n
https://dl.doubtnut.com/l/_BIN6bbndQZVh


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

10. The following reaction gives five compounds

of molecular formula  C4H8Br2

https://dl.doubtnut.com/l/_BIN6bbndQZVh
https://dl.doubtnut.com/l/_DOBOyjBSRR3T


 

The number of compounds in X will be

A. 2

B. 3

C. 4

D. 5

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_DOBOyjBSRR3T


11. Which set of reagents Is used for the purpose

of adding water to an alkene in a Markovnikov

addition without rearrangement ?

A.  followed by 

B. 

C. 

D.  followed by 

Answer: D

Vi T S l i

BH3, T HF H2O2, NaOH

H2OH2SO4

Br2, H2O

Hg(O2CCH3), H2O

NaBH4, NaOH

https://dl.doubtnut.com/l/_FOP87bLxwvHO


View Text Solution

12. Make the correct increasing order of

reactivity of following compounds with

 


A. 

B. 

C. 

HBr /HCl

(i) < (ii) < (iii)

(ii) < (i) < (iii)

(ii) < (iii) < (i)

https://dl.doubtnut.com/l/_FOP87bLxwvHO
https://dl.doubtnut.com/l/_hxnRBb5VYPie


D. 

Answer: C

View Text Solution

(iii) < (ii) < (i)

13. What is the major product of the following

reaction ? 

A. 

https://dl.doubtnut.com/l/_hxnRBb5VYPie
https://dl.doubtnut.com/l/_YXM8ZP4JGmgv


B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_YXM8ZP4JGmgv


14. When phenyl magnesium bromide reacts with

tert-butanol, which of the following product is

formed?

A. tert-Butyl methyl ether

B. Benzene

C. tert-Butyl benzene

D. Phenol

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_C0ALyEnyupqV


15. 

Identify (Y)

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_CxOP0UDdJgDP


16. Cyclohexene is best prepared from

cyclohexanol by which of the following ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Conc.H3PO4

Conc.HCl/ZnCl2

Conc.HCl

Conc.HBr

https://dl.doubtnut.com/l/_CxOP0UDdJgDP
https://dl.doubtnut.com/l/_fqzTyrh6sRAY


17.  Final

product will be

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_vV2aq14PDEj0


View Text Solution

18.  


Relationship between products (Q) and (S) is

A. positional isomer

B. chain isomer.

C. stereoisomer.

D. functional isomer.

https://dl.doubtnut.com/l/_vV2aq14PDEj0
https://dl.doubtnut.com/l/_yhucvb4Ke15X


Answer: D

View Text Solution

19. Incorrect statement regarding Williamson

ether synthesis is

A. less hindered halide is used in this

reaction.

B. less hindered alkoxide ion is used in this

reaction.

https://dl.doubtnut.com/l/_yhucvb4Ke15X
https://dl.doubtnut.com/l/_5erdDWYzPLCO


C. mechanism of reaction will be .

D. more hindered halide is used in this

reaction.

Answer: D

View Text Solution

Sp2

20. Which of the given compound do not

undergo acid catalyzed hydrolysis?

A. Ph − O − Ph

https://dl.doubtnut.com/l/_5erdDWYzPLCO
https://dl.doubtnut.com/l/_ELZh2Ntr6TO7


B. 

C. 

D. 

Answer: A

View Text Solution

Ph − O − CH = CH2

Ph − O − CH2 − Ph

CH3 − O − CH2CH3

21. Williamson synthesis of ether is an example

of

A. nucleophilic addition

https://dl.doubtnut.com/l/_ELZh2Ntr6TO7
https://dl.doubtnut.com/l/_5ynKGOtdCzU4


B. electrophilic addition

C. electrophilic substitution

D. nucleophilic substitution

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_5ynKGOtdCzU4


22. Predict the major products (A) and (B) 

 

(OMDM is oxymercuration demercuration)

A. 

B. 

C. 

https://dl.doubtnut.com/l/_DHIXgB6SkaXa


D. 

Answer: A

View Text Solution

23. The product of the following reaction is 

https://dl.doubtnut.com/l/_DHIXgB6SkaXa
https://dl.doubtnut.com/l/_6INKyMYNff7n


A. 

B. 

C. Both (a) and (b)

D. No reaction

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_6INKyMYNff7n
https://dl.doubtnut.com/l/_5fvmc0dqs5j3


24. 

Correct stereochemical relationship between

reactant and product will be

A. enantiomer

B. diastereomer

C. structural isomer

D. none of these

https://dl.doubtnut.com/l/_5fvmc0dqs5j3


Answer: D

View Text Solution

25. 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_5fvmc0dqs5j3
https://dl.doubtnut.com/l/_f8T43VaR97Up


Answer: B

View Text Solution

26. Choose the major product of the following

reaction 

A. 

https://dl.doubtnut.com/l/_f8T43VaR97Up
https://dl.doubtnut.com/l/_hesYkpXZLCYk


B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_hesYkpXZLCYk


Additional Objective Questions Linked

Comprehension Type Paragraph For Question 1 To

4

1. Compound A of formula  reacts with 

 to yield two isomeric products B and C,

both in equal yield. Heating either B or C with

conc.  produces D with for mula  .

Ozonolysis of D produces a keto aldehyde after

 treatment. Oxidation of this keto

aldehyde with aq. Cr (VI) produces 

C8H14O

LiAIH4

H2SO4 C8H14

Zn/H2O

https://dl.doubtnut.com/l/_esfgKghBfmmP


 

The structure of D is

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_esfgKghBfmmP


Additional Objective Questions Linked

Comprehension Type Paragraph For Question 1 To

5

View Text Solution

1. Compound A of formula  reacts with 

 to yield two isomeric products B and C,

both in equal yield. Heating either B or C with

conc.  produces D with for mula  .

Ozonolysis of D produces a keto aldehyde after

 treatment. Oxidation of this keto

C8H14O

LiAIH4

H2SO4 C8H14

Zn/H2O

https://dl.doubtnut.com/l/_esfgKghBfmmP
https://dl.doubtnut.com/l/_UbmBDFwa9RRr


aldehyde with aq. Cr (VI) produces 

 

The structures of B and C are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_UbmBDFwa9RRr


Additional Objective Questions Linked

Comprehension Type Paragraph For Question 1 To

6

1. Compound A of formula  reacts with 

 to yield two isomeric products B and C,

both in equal yield. Heating either B or C with

conc.  produces D with for mula  .

Ozonolysis of D produces a keto aldehyde after

 treatment. Oxidation of this keto

aldehyde with aq. Cr (VI) produces 

C8H14O

LiAIH4

H2SO4 C8H14

Zn/H2O

https://dl.doubtnut.com/l/_UbmBDFwa9RRr
https://dl.doubtnut.com/l/_8Ma4tgMV1Gp6


 

The compounds B and C are

A. enantiomers

B. meso compound

C. disastereomers

D. constitutional isomers.

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_8Ma4tgMV1Gp6


Additional Objective Questions Linked

Comprehension Type Paragraph For Question 1 To

7

1. Compound A of formula  reacts with 

 to yield two isomeric products B and C,

both in equal yield. Heating either B or C with

conc.  produces D with for mula  .

Ozonolysis of D produces a keto aldehyde after

 treatment. Oxidation of this keto

aldehyde with aq. Cr (VI) produces 

C8H14O

LiAIH4

H2SO4 C8H14

Zn/H2O

https://dl.doubtnut.com/l/_zIqRVquOfjZ2


 

The structure of A is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_zIqRVquOfjZ2


Additional Objective Questions Matrix Match Type

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_zIqRVquOfjZ2


1. 

View Text Solution

https://dl.doubtnut.com/l/_YPaXjSeyjvYS


2. 

View Text Solution

https://dl.doubtnut.com/l/_JC3PFVUEnM72


3. 

View Text Solution

https://dl.doubtnut.com/l/_djR1JasiTRJd

